EARAROBEEIERT — 2 N— IBISH —F

20185173150 (B) 28@EHE1H

2R oY R E [l w | Eem - | v ) o E
[A&4£] 1 7% :200,000” ~ 23#%:50,000” ~ 337%&:20,000H” . 43%&:12,000” 53 :8,000 8
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. # o4 | SHEX 1:35.8 1-1-1-1 405 — | 2 | 453 |®OFE (BHE)
11717 FXA2 54.0 (=) (-p) | REHEE
g/ veTe BiX¥Xav b (B) HBEaA-KL—y3>aE77
S s 4 | ALE— 1:35.9 8-8-5-3 |40.2| — 4 397 |MZTHEE (B4E)
EE 6| 7/¥21 b 54.0 (3/4) gy | (B JPNzRR
Rih>INZ— BHYTIARY— Eld== I
S 4 4 | DOBRER— 1:36.1 7-7-7-5 | 40.3| — 1 M1 | RAEE (BHE)
3lglg|¥>HFUTL—I 54.0 (1'1/2) Lo | W) A
g — KRR BTVETITHRIYZR ke
SN <A B 4 | RBEE 1:36.5 2-2-2-2 | 41.1| — 3 395 | HEMARIE (BEHE)
] 4 HNLF7FaACA 54.0 ©) o (*;) Sr—Z FNET TS
Rix>inan— B:7Fra 4 NESEE RS
¢ . . 4 4 | DOEEFIE 1:36.5 3-4-3-4 |41.0| — 7 430 | BFEBC (BHE)
5/8|lg| AN/ Ty IL—> 54.0 (NF) o) | (B) JP N
i rp—3U7> B:qy h—FED-— WM 77— L4
D =T a7, 56 8| — HOBH (BEE)
6l1l1]21k=zy e it 4 isa.o 1(357)5 5-5-6-7 | 41.8 5 (4_017) e
L:O—v>I2INAT7 B:EILT7A KRV KEHS
BRR— : -3-3— — HEE (BHE)
2 o | YT L1 it 4 R 0?;';5 4-3-3-6 | 42.0 8 12(3»2 LEE
Lixq4yayR—5— B:xVITN—h Ml 77— 4
. =: B 4 | FEIERE 1:38.4 6-6-7-8 |42.6| — 6 441 | BREHBR (BHE)
8l5|5| 77> AL T 1 54.0 ) () | (P J P N
L:ZY—O—IR B:HLRIa—THI Shall Farm
5 =3 ft o4 | DIEEEZ 1:38.9 9-9-9-9 |425| — 9 394 | OBF (BEHE)
9 3 AHTIVTIR 54.0 (2 1/2) +3) (R) J P NHH
LY o540+ BHITAH BEZ &y
® I—F—@EBIERL
|S=7r= 7,4,8,2,1,5,9,6,3
Ao=5"= 7,4,2,8,1,5,9,6,3
3T—7— 7,4,(2,8),6,1,(5,9),3
41—F— 7,4,6,8,9,2,1,5,3
[ RN
B 7 370M 794K 6-7 430 & 6-7 1,830 &R 6-7-9 950M
# B 7 1304 7-9 170H B E 6-7 2,210 EE 7-6-9 10,5004
6 270H 6-9 190H B H 7-6 2,920M
9 1009

ABICOVWTRDTEEERROODE. TR LIV,




